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1. Do not open the booklet unless you are 

asked to do so. 

 1. iz’u&iqfLrdk dks rc rd u [kksysa tc rd vkils dgk 

u tk,A 

2. The booklet contains 60 questions. 

Examinee is required to answer any 50 

questions in the OMR Answer-Sheet 

provided and not in the question booklet. If 

more than 50 questions are attempted by 

student, then the first attempted 50 

questions will be considered for evaluation. 

All questions carry equal marks. 

 2. iz’u&iqfLrdk esa 60 iz’u gSaA ijh{kkFkhZ dks fdUgha  

50 iz’uksa dks dsoy nh xbZ OMR vkUlj&’khV ij gh 

gy djuk gS  iz’u&iqfLrdk ij ughaA ;fn Nk= }kjk 

50 ls vf/kd iz’uksa dks gy fd;k tkrk gS rks izkjfEHkd 

gy fd;s gq, 50 mŸkjksa dks gh ewY;kadu gsrq lfEefyr 

fd;k tk,xkA lHkh iz’uksa ds vad leku gSaA 

3. Examine the Booklet and the OMR Answer-

Sheet very carefully before you proceed. 

Faulty question booklet due to missing or 

duplicate pages/questions or having any 

other discrepancy should be got 

immediately replaced. 

 3. iz’uksa ds mŸkj vafdr djus ls iwoZ iz’u&iqfLrdk rFkk 

OMR vkUlj&’khV dks lko/kkuhiwoZd ns[k ysaA nks”kiw.kZ 

iz’u&iqfLrdk ftlesa dqN Hkkx Nius ls NwV x, gksa ;k 

iz’u ,d ls vf/kd ckj Ni x, gksa ;k mlesa fdlh 

vU; izdkj dh deh gks  rks mls rqjUr cny ysaA 
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1. ftl LDysjkbV ij ‘okl ja/kz fLFkr gksrk gS] 

mls dgrs gSa % 

 
1. The sclerite on which spiracle is situated, 

is called : 

(A) iSYihtj  (A) Palpiger 

(B) iSYihQj  (B)  Palpifer 

(C) IY;wjkbV  (C)  Pleurite 

(D) isjhVªhe  (D)  Peritreme 

2. iw.kZ :ikUrj.k esa fdruh voLFkk,¡ ik;h tkrh  

gS \ 

 
2. How many stages are found in complete 

metamorphosis ? 

(A) rhu  (A) Three 

(B) pkj  (B)  Four 

(C) dbZ  (C)  Many 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

3. lh&vkd`fr okys xzc dgykrs gSa % 
 

3. C-shaped grub is called : 

(A) LdsjkchQkWeZ  (A) Scarabaeiform 

(B) dEiksMhQkWeZ  (B)  Compodeiform 

(C) ywij  (C)  Looper 

(D) lsehywij  (D)  Semilooper 
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4. dSVjfiyj esa fdrus mnjh; ikn ik;s tkrs  

gSa \ 

 
4. How many abdominal legs are found in 

caterpillar ? 

(A) 3 tksM+h  (A) 3 pairs 

(B) 4 tksM+h  (B)  4 pairs 

(C) 5 tksM+h  (C)  5 pairs 

(D) 6 tksM+h  (D)  6 pairs 

5. eSxV esa fdrus iSj ik;s tkrs gSa \ 
 

5. How many legs does a maggot have ? 

(A) iSjfoghu  (A) Legless 

(B) nks tksM+h  (B)  Two pairs 

(C) rhu tksM+h  (C)  Three pairs 

(D) dbZ tksM+h  (D)  Many pairs 

6. oxhZdj.k dh ewy bdkbZ gS % 
 

6. Basic unit of classification is : 

(A) oxZ  (A) Class 

(B) x.k  (B)  Order 

(C) dqy  (C)  Family 

(D) Lih’kht  (D)  Species 
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7. nks fueksZpu ds chp ds vUrjky dks dgrs gSa % 
 

7. Interval between two moulting is called : 

(A) LVsfM;e  (A) Stadium 

(B) bUlVkj  (B)  Instar 

(C) ,iksykbfll  (C)  Apolysis 

(D) :ikUrj.k  (D)  Metamorphosis 

8. x.k dksfy;ksIVsjk ds ykokZ dks dgrs  

gSa % 

 
8. Larva of order Coleoptera is called : 

(A) dSVjfiyj  (A) Caterpillar 

(B) VEcyj  (B)  Tumbler 

(C) eSxV  (C)  Maggot 

(D) xzc  (D)  Grub 

9. ekgw fdl x.k ds vUrxZr vkrk gS \ 
 

9. Aphid belongs to order : 

(A) Fkk;lsuksIVsjk  (A) Thysanoptera 

(B) gsehIVsjk  (B)  Hemiptera 

(C) fMIVsjk  (C)  Diptera 

(D) vkFkksZIVsjk  (D)  Orthoptera 
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10. fdl Js.kh esa ia[kksa dk vkarfjd fodkl gksrk  

gS \ 

 
10. In which division wings developed 

internally ? 

(A) ,VsjhxksVk  (A) Apterygota 

(B) ,DlksVsjhxksVk  (B)  Exopterygota 

(C) bUMksVsjhxksVk  (C)  Endopterygota 

(D) mi;qZDr lHkh  (D)  All of the above 

11. fVM~Mk fdl x.k ds vUrxZr vkrk gS \ 
 

11. Grasshopper belongs to order : 

(A) vksMksukVk  (A) Odonata 

(B) IysdksIVsjk  (B)  Plecoptera 

(C) vkFkksZIVsjk  (C)  Orthoptera 

(D) vkblksIVsjk  (D)  Isoptera 

12. fuEufyf[kr esa ls dkSu lkekftd dhV  

gS  \ 

 
12. Which of the following is a social  

insect ? 

(A) fVM~Mh  (A) Locust 

(B) nhed  (B)  Termite 

(C) ‘osr fxMkj  (C)  White grub 

(D) mi;qZDr lHkh  (D)  All of the above 
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13. puk dk Qyh cs/kd fdl dqy ds vUrxZr 

vkrk gS \ 

 
13. Gram pod borer belongs to  

which family ? 

(A) ukWDVwMh  (A) Noctuidae 

(B) ik;jsyhMh  (B)  Pyralidae 

(C) iSfify;ksuhMh  (C)  Papilionidae 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

14. fdlh fo’ks”k LVsfM;e esa ‘kjhj ds :i dks dgk 

tkrk gS % 

 
14. The body form in a particular stadium is 

called :  

(A) fueksZd  (A) Exuviae 

(B) LVsfM;e  (B)  Stadium 

(C) bUlVkj  (C)  Instar 

(D) mi;qZDr lHkh  (D)  All of the above 

15. tc mPp rkieku ds dkj.k Mk;ikt gksrk gS] 

rks ;g dgykrk gS % 

 
15. When diapause occurs due to high 

temperature, it is called : 

(A) gk;cjus’ku  (A) Hibernation 

(B) ,LVhos’ku  (B)  Aestivation 

(C) fueksZpu  (C)  Moulting 

(D) mi;qZDr lHkh  (D)  All of the above 
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16. ßdhVÞ ‘kCn dh mRifŸk fdlls gqbZ \ 
 

16. The word “Insect” originated from : 

(A) xzhd ‘kCn  (A) Greek word 

(B) ySfVu ‘kCn  (B)  Latin word 

(C) ySVhukbt&xzhd ‘kCn  (C)  Latinize-Greek word 

(D) mi;qZDr lHkh  (D)  All of the above 

17. edM+h fdl oxZ ds vUrxZr vkrh gS \ 
 

17. Spider belongs to class : 

(A) vjsfDuMk  (A) Arachnida 

(B) bUlsDVk  (B)  Insecta 

(C) dkbyksiksMk  (C)  Chilopoda 

(D) fMIyksiksMk  (D)  Diplopoda 

18. dhVksa esa fdrus ia[k ik;s tkrs gSa \ 
 

18. How many wings do insects have ? 

(A) ,d tksM+h  (A) One pair 

(B) nks tksM+h  (B)  Two pairs 

(C) rhu tksM+h  (C)  Three pairs 

(D) mi;qZDr lHkh  (D)  All of the above 

19. Ük`afxdk fdldk mikax gS \ 
 

19. Antenna is an appendage of : 

(A) flj  (A) Head 

(B) o{k  (B)  Thorax 

(C) mnj  (C)  Abdomen 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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20. o;Ld dhVksa ds mnj esa fdrus iSj ik;s tkrs  

gSa \ 

 
20. How many legs are found on abdomen of 

adult insects ? 

(A) ,d tksM+h  (A) One pair 

(B) nks tksM+h  (B)  Two pairs 

(C) rhu tksM+h  (C)  Three pairs 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

21. buesa dkSu ckádadky dh lcls Åijh irZ  

gS \ 

 
21. Which is uppermost layer of bodywall ? 

(A) D;wVhdqfyu  (A) Cuticulin 

(B) ekseh irZ  (B)  Wax layer 

(C) VsDVksD;wfVdy  (C)  Tectocuticle 

(D) gkbiksMfeZl  (D)  Hypodermis 

22. fuEufyf[kr esa dkSu D;wfVdy lzkfor djrk  

gS \ 

 
22. Which of the following secretes  

cuticle ? 

(A) ikWfyfQukWy irZ  (A) Polyphenol layer 

(B) D;wfVdqfyu irZ  (B)  Cuticulin layer 

(C) gkbiksMfeZl  (C)  Hypodermis 

(D) vk/kkjh; f>Yyh  (D)  Basement membrane 
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23. dhVksa ds ‘kjhj ds v/kjry ij ik;s tkus okys 

LDysjkbV~l dgykrs gSa % 

 
23. Ventral sclerites on insects body are 

called : 

(A) Vjxe  (A) Tergum 

(B) LVuZe  (B)  Sternum 

(C) IywjkWu  (C)  Pleuron 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

24. i’pksUeq[kh flj ik;k tkrk gS % 
 

24. Opisthognathous head is found in : 

(A) eRdq.k esa  (A) Bug 

(B) nhed esa  (B)  Termite 

(C) fVM~Ms esa  (C)  Grasshopper 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

25. dhV ds flj dk lcls ì”Bh; LDysjkbV gS % 
 

25. Dorsalmost sclerite of insect’s head is : 

(A) ÝkWUl  (A) Frons 

(B) oVsZDl  (B)  Vertex 

(C) thuk  (C)  Gena 

(D) Dykbfi;l  (D)  Clypeus 

26. Ük`afxdk foHkDr gksrh gS % 
 

26. Antenna is divided into : 

(A) nks [k.Mksa esa  (A) Two segments 

(B) rhu [k.Mksa esa  (B)  Three segments 

(C) pkj [k.Mksa esa  (C)  Four segments 

(D) dbZ [k.Mksa esa  (D)  Many segments 
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27. eqDrkdkj Ük`afxdk ik;h tkrh gS % 
 

27. Moniliform antenna is found in : 

(A) fVM~Ms eas  (A) Grasshopper 

(B) ePNj esa  (B)  Mosquito 

(C) ?kjsyw eD[kh esa  (C)  Housefly 

(D) nhed esa  (D)  Termite 

28. f}da?kkdkj Ük`afxdk fdlesa ik;h tkrh gS \ 
 

28. Bipectinate antenna is found in : 

(A) ?kjsyw eD[kh esa  (A) Housefly 

(B) nhed eas  (B)  Termite 

(C) js’ke dhV esa  (C)  Silk moth 

(D) frryh eas  (D)  Butterfly 

29. eSfDlyk Hkkx gS % 
 

29. Maxilla is a part of : 

(A) Ük`afxdk dk  (A) Antenna 

(B) eq[kkax dk  (B)  Mouthpart 

(C) o{k dk  (C)  Thorax 

(D) ljy us= dk  (D)  Simple eye 

30. dkSu&lk Hkkx eq[k xqgk dks vkxs ls <dk j[krk 

gS \ 

 
30. Which part covers the oral cavity from 

front ? 

(A) yScze  (A) Labrum 

(B) ySfc;e  (B)  Labium 

(C) eSf.Mcy  (C)  Mandible 

(D) eSfDlyk  (D)  Maxilla 
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31. Liatkdkj eq[kkax fdlesa ik;k tkrk gS \ 
 

31. Sponging mouthparts are found in : 

(A) ekgw esa  (A) Aphid 

(B) tSflM esa  (B)  Jassid 

(C) frryh eas  (C)  Butterfly 

(D) ?kjsyw eD[kh esa  (D)  Housefly 

32. pqHkksus o pwlus okys eq[kkax fdlesa ik;s tkrs 

gSa \ 

 
32. Piercing and sucking mouthparts are 

found in : 

(A) ekgw esa  (A) Aphid 

(B) ‘osr eD[kh eas  (B)  White fly 

(C) eRdq.k esa  (C)  Bug 

(D) mi;qZDr lHkh  (D)  All of the above 

33. izhesUVe fdlls lEcfU/kr gS \ 
 

33. Prementum is related with : 

(A) eSfDlyk  (A) Maxilla 

(B) ySfc;e  (B)  Labium 

(C) eSf.Mcy  (C)  Mandible 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

34. ia[k fdlds mikax gSa \ 
 

34. Wings are the appendages of : 

(A) flj  (A) Head 

(B) o{k  (B)  Thorax 

(C) mnj  (C)  Abdomen 

(D) mi;qZDr lHkh  (D)  All of the above 
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35. VªksdSUVj fdldk Hkkx gS \ 
 

35. Trochanter is a part of : 

(A) Ük`afxdk dk  (A) Antenna 

(B) eq[kkax dk  (B)  Mouthparts 

(C) iSj dk  (C)  Leg 

(D) la;qDr us= dk  (D)  Compound eye 

36. fVM~Ms ds dwnus okys iSj gSa % 
 

36. Saltatorial legs of grasshopper are : 

(A) vxzikn  (A) Fore legs 

(B) e/;ikn  (B)  Middle legs 

(C) i’pikn  (C)  Hind legs 

(D) mi;qZDr lHkh  (D)  All of the above 

37. gsesykbVªk ia[k fdlesa ik;k tkrk gS \ 
 

37. Hemelytra wing is found in : 

(A) eRdq.k  (A) Bug 

(B) chVy  (B)  Beetle 

(C) ohfoy  (C)  Weevil 

(D) frypV~Vk  (D)  Cockroach 

38. dhVksa ds ia[k esa fdrus dks.k ik;s tkrs gSa \ 
 

38. How many angles are found in insects’ 

wing ? 

(A) nks  (A) Two 

(B) rhu  (B)  Three 

(C) pkj  (C)  Four 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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39. lcls vkxs okyh izeq[k f’kjk gS % 
 

39. The anterior most principal vein is : 

(A) dksLVk  (A) Costa 

(B) jsfM;l  (B)  Radius 

(C) esfM;l  (C)  Medius 

(D) D;wfcVl  (D)  Cubitus 

40. gSE;wykb ia[k la;ksth midj.k fdlesa ik;k 

tkrk gS \ 

 
40. Hamuli wing coupling apparatus is found 

in : 

(A) ‘kyHk esa  (A) Moth 

(B) frryh eas  (B)  Butterfly 

(C) eRdq.k eas  (C)  Bug 

(D) e/kqeD[kh esa  (D)  Honeybee 

41. fdl dhV esa ia[k la;ksth midj.k ugha ik;k 

tkrk gS \ 

 
41. In which insect wing coupling apparatus 

is not found ? 

(A) eRdq.k  (A) Bug 

(B) MªSxu¶ykbZ  (B)  Dragonfly 

(C) ‘kyHk  (C)  Moth 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

42. fVM~Ms dk mnj fdrus [k.Mksa ls cuk gksrk  

gS \ 

 
42. The abdomen of grasshopper is composed 

of : 

(A) 8 [k.M  (A) 8 segments 

(B) 9 [k.M  (B)  9 segments 

(C) 10 [k.M  (C)  10 segments 

(D) 11 [k.M  (D)  11 segments 
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43. fdl dhV esa vaMjksid Mad esa ifjofrZr gks 

tkrk gS \ 

 
43. In which insect ovipositor is modified 

into sting ? 

(A) eRdq.k  (A) Bug 

(B) frryh  (B)  Butterfly 

(C) ?kjsyw eD[kh  (C)  Housefly 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

44. og f’kjk tks nks yEckdkj f’kjkvksa dks tksM+rh 

gS] dgykrh gS % 

 
44. The vein joining two longitudinal veins is 

called : 

(A) eq[; f’kjk  (A) Principal vein 

(B) vkM+h f’kjk  (B)  Cross vein 

(C) mi f’kjk  (C)  Sub vein 

(D) mi;qZDr lHkh  (D)  All of the above 

45. fxtMZ fdldk Hkkx gS \ 
 

45. Gizzard is a part of : 

(A) vxz iz.kkyh  (A) Fore gut 

(B) e/; iz.kkyh  (B)  Mid gut 

(C) i’p iz.kkyh  (C)  Hind gut 

(D) mi;qZDr lHkh  (D)  All of the above 
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46. isjhVªksfQd f>Yyh fdlesa vuqifLFkr gksrh gS \ 
 

46. Peritrophic membrane is absent in : 

(A) fMQksfy,Vj  (A) Defoliator 

(B) lSi QhMj  (B)  Sap feeder 

(C) LVse cksjj  (C)  Stem borer 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

47. Hkkstu dk ikpu o vo’kks”k.k dgk¡ gksrk gS \ 
 

47. Digestion and absorption of food takes 

place in : 

(A) vxz iz.kkyh eas  (A) Fore gut 

(B) e/; iz.kkyh eas  (B)  Mid gut 

(C) i’p iz.kkyh eas  (C)  Hind gut 

(D) mi;qZDr lHkh   (D)  All of the above 

48. i’p iz.kkyh dks ;g Hkh dgk tkrk gS % 
 

48. Hind gut is also called : 

(A) izksDVksfM;e  (A) Proctodaeum 

(B) eslsUVsjkWu  (B)  Mesenteron 

(C) LVkseksfM;e  (C)  Stomodaeum 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

49. dhVksa esa mRltZu fdlds }kjk gksrk gS \ 
 

49. In insects excretion takes place through : 

(A) ekYih?kh;u V~;wcwYl  (A) Malpighian tubules 

(B) ykj xzfUFk  (B)  Salivary gland 

(C) vkgkj uky  (C)  Alimentary canal 

(D) mi;qZDr lHkh  (D)  All of the above 
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50. dhVksa esa izeq[k jDr ‘kdZjk gS % 
 

50. Major blood sugar in insect is : 

(A) lqØkst  (A) Sucrose 

(B) ekYVkst  (B)  Maltose 

(C) Vªsgykst  (C)  Trehalose 

(D) mi;qZDRk lHkh  (D)  All of the above 

51. e`r dksf’kdkvksa dks fuxyus okyh jDr 

dksf’kdk,¡ dgykrh gSa % 

 
51. The blood cells which ingest dead cells 

are called : 

(A) xzsuqykslkbV  (A) Granulocyte 

(B) QsxkslkbV  (B)  Phagocyte 

(C) izksY;wdkslkbV  (C)  Proleucocyte 

(D) vks,ukslkbV  (D)  Oenocyte 

52. vQjsaV U;wjku dks ;g Hkh dgk tkrk gS % 
 

52. Afferent neuron is also called : 

(A) eksVj U;wjkWu  (A) Motor neuron 

(B) lsaljh U;wjkWu  (B)  Sensory neuron 

(C) baVjufU’k;y U;wjkWu  (C)  Internuncial neuron 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

53. dhVksa dk czsu fdrus Hkkxksa esa c¡Vk gksrk gS \ 
 

53. Insect’s brain is divided into : 

(A) nks Hkkx  (A) Two parts 

(B) rhu Hkkx  (B)  Three parts 

(C) pkj Hkkx  (C)  Four parts 

(D) ik¡p Hkkx  (D)  Five parts 
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54. dhVksa esa raf=dk dkWMZ fLFkr gksrk gS % 
 

54. The nerve cord in insect is located : 

(A) i`”Bh;  (A) Dorsally 

(B) mnjh;  (B)  Ventrally 

(C) ik’ohZ;  (C)  Laterally 

(D) mi;qZDr lHkh  (D)  All of the above 

55. uj dhVksa esa fdrus ò”k.k ik;s tkrs gSa \ 
 

55. How many testes are found in male 

insects ? 

(A) ,d   (A) One 

(B) nks  (B)  Two 

(C) rhu  (C)  Three 

(D) pkj  (D)  Four 

56. dkSu ,d eknk tuu ra= dk Hkkx gS \ 
 

56. Which one is part of female reproductive 

system ? 

(A) okl fMQjsal  (A) Vas deferens 

(B) okl bQjsal  (B)  Vas efferens 

(C) vksfoMDV  (C)  Oviduct 

(D) mi;qZDr lHkh  (D)  All of the above 
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57. dkSu ,d lthoiztrk dhV gS \ 
 

57. Which one is viviparous insect ? 

(A) fVM~Mk  (A) Grasshopper 

(B) ekgw  (B)  Aphid 

(C) eRdq.k  (C)  Bug 

(D) mi;qZDr lHkh  (D)  All of the above 

58. fu”kspu ds fcuk iztuu dgykrk gS % 
 

58. Reproduction without fertilization is 

called : 

(A) isMkstsusfll  (A) Paedogenesis 

(B) ikFksZukstsusfll  (B)  Parthenogenesis 

(C) fofoiSfjVh  (C)  Viviparity 

(D) vksohiSfjVh  (D)  Oviparity 

59. VªSfd;y ra= lEcfU/kr gS % 
 

59. Tracheal system is related with : 

(A) ifjlapj.k ls  (A) Circulation 

(B) ikpu ls  (B)  Digestion 

(C) mRltZu ls  (C)  Excretion 

(D) ‘olu ls  (D)  Respiration 

60. fVM~Ms esa fdl izdkj dh ‘okl ja/kz O;oLFkk 

ik;h tkrh gS \ 

 
60. Which type of spiracle arrangement is 

found in grasshopper ? 

(A) gsehU;wfLVd  (A) Hemipneustic 

(B) gksyksU;wfLVd  (B)  Holopneustic 

(C) ,EQhU;wfLVd  (C)  Amphipneustic 

(D) ,U;wfLVd  (D)  Apneustic 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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